25. Withholding taxes may have been reduced by special treaties between countries.

Ex.12. Find the English equivalents of the following Uzbek words and word-
combinations.

TaBaKKajg KWIHIITa ap3uMaiid, WKTHUCOAUM WYHAIWIIHUHT Y3rapuiim, Oy
TypJlard COJIMK TYiaman OoIl TOPTHUI, ASKIapalusHu 3 BaKTHIa TaKIUM KUJIMOK,
aTaiiad CoONMK TYIaMaciuK, TYJaHMaraH COJHK CyMMacura TEHIJIAIITHPUIITaH
JKapuMa, COJIMK TyJAlIJaH KOYraHJIMK YYyH Ka30, MYJDKQJUIAHTaH COJIMK
TyIIyMJIapu, OENTUJIaHTaH COJHUKJIAPHU TYJIaMacluK, MUHHUMAJ COJIMK IOKH, ...Ta
Makcajra KapaTwiraH, acocui yciay0 sMac, YeMupiiap CONMK TYIaniMand, KUMIUp
OpKAJIM TMYJIHU KOJAMPUO KETMOK, Oy Xajdu yHYAJIWK OMMaJIalliMaraH, MaOJarHu
MyalssH KUCMUHHM KaWTapMOK, COJIMK TyJall COJHMK TYJOBUYMHUHT oiinacura,
KUCMOHUN IIaxciapra OepuiraH HMKOHUATIAP, COJMK HUFUO OJryHra Kajap,
OepuiIaura CoJIMK UMTUERIApU

* Read and translate texts“New Provisions for Inheritance Taxes” and “Methods
of Taxation. Answer the question: Why is the new proposal called a radical
step?

TEXT
NEW PROVISIONS FOR INHERITANCE TAXES

The proposal to abolish the tax (at the time of the gift) on life time gifts between
individuals was a radical step. It brought capital transfer tax more into line with the
estate duty which it replaced in 1984/85. Renaming of capital transfer tax as
inheritance tax is intended to reflect this fundamental change in the way the tax will
bite in future.

Most of the capital transfer tax administrative provisions will continue in place
for inheritance tax. The principle proposals, which apply to transfers on or after 18
March 1986 are as follows:

Outright gifts between individuals will be exempt from tax where the gift is
made more than 7 years before the donor’s death (gifts to most trusts and companies
will be taxable at one half of the death rates of tax at the time of the gift). In line with
the above to 10 years cumulation period for chargeable transfers is reduced from 10
to 7 years.

Tax will be charged on the value of the estate at death together with the value of
all gifts made within 7 years of death. The tax will continue to be charged on a
cumulative basis, but over 7 years as opposed to 10.

Existing exemptions and reliefs available under capital transfer tax will continue
to be available, e.g., annual exemption, normal gifts out of income, inter-spouse
transfers, gifts to charities, business property and agricultural property reliefs.
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There are to be new “gifts with reservation” provisions: if the donor retains any
benefit from the property gifted, the value of that property will be included as part of
the estate after death.

New legislation is to be introduced to clarify the rules for dealing with estates
which include different property.

The scope for tax planning in general has been widened by the new provisions.
Estate owners can now contemplate outright gifts of property to their heirs without
Immediate tax liability. Life assurance may have in future a more traditional role in
inheritance tax planning: to protect against death within 7 years of a life time gift and
to provide funds on death to meet tax liabilities.

UNIT 24.
TEXT
METHODS OF TAXATION

Some of the most interesting aspects of comparative taxation concern ideas
rather than money. No two countries have identical taxes because the circumstances
which call for their imposition are seldom alike. Neverthless it is always worth
looking at other people’s ideas and methods for their possible importance to British
tax reform.  Some of these ideas are concerned with simplification, others attempt
to reduce taxes. Any acyual experience of these methods is always relevent.

The main differences between countries are in the treatment of different kinds of
income and in the range of deductions permitted. The variations in “income —
splitting” are also great.

Some other points of interest are noted briefly below.-SWEDEN.
() The amount of the State Health Contribution varies according to locality an
idea for possible use as additional encouragment to industry in development areas.
(I)  The Swedes have a permenant organisation for studying their tax system and
making recommendations for innovation and change. Among the latest proposals (to
be adopted shortly) are that the income tax be made fomore regular in its
progressivness and that the present selective indirect taxes be replaced by a general
value-added tax.
(1)  The Swedish Tax Board has power to forecast tax liabilities on certain
proposed transactions: their rulings can then become binding if the applicant wishes.
This enables firms to reach early investment decisions knowing in advance the tax
consequences of a range of possible decisions.
(from “Britain’s Taxes. Some International Comparisons”

Vocabulary list you may need

proposal - Takaud cumulative — sxamrapu6 Gopunaguran
abolish - Gekop xkunMoK donor - moHop

in line (with) - myBoduK clarify — aHuKIMK KUPUTMOK

replace - y3rapTupMoK SCOpe — KyJ1am, Xaxm
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rename — Kaira HOMJIaMOK contemplate — uykyp yiaad KypMOK
bite — Tummnamok cumulation - KaMFapHIII

provisions pl. - dapmoiini relief - enrmmamTupun

outright - 6eBocura heir - Mmepocxyp

reflect — akc aTMOK encouragement — xyuia0-KyBBaTJIaMOK

Ex.1.Translate the following words and word-combinations, try to make up your
own sentences to them.

a radical, to reflect the fundamental change, the principle proposals, will be
exempt from tax, on a cumulative basis, will continue to be available, retains any
benefit, to clarify the rules, to be allowed as liabilities, transitional provisions,
outright gifts of property, to meet tax liabilities

Ex.2. Match English and Uzbek words and word-combinations which express
the same meaning in the list.

proposal, life time gifts, a radical step, bring into line, estate duty, a fundamental
change, a capital transfer tax, administrative provisions, donor’s death, cumulation
period, gifts out of income, inter-spouse transfers, to clarify the rules, beneficiary,
estate owners, life assurance

Xaasd TOPTHK KUIYBYMHUHT BaOTH, KydMac MYJK 3racH, Koujara aHUKIUK
KHUPUTMOK, padUKacu OpKaJid MOJI-MYJIKUHH YTKa3MOK, XaéTHU CyFypTajall cuécaTy,
Takaud, MyBOPUKIAMITUPMOK, MyXUM KajaMm, GyHIaMeHTaN Y3rapuiiiap, OOIKapyB
Kapopu, XxaJsuiap, Xa€T JaBOMHMAA amaira OLIMPWITaH, ’KamrapMma JaBp, V3
TapoMauaaH Oaxkapuiaran, Mepoc 00XkH, KHPUTHIITAH CapMOs COJIMFU, IIaxc, Xaup-
9XCOH MaOJIaFru

Ex.3.Translate the following sentences into Uzbek.

1. The proposal to abolish the tax on life time gifts was an important step.
2. Renaming of capital transfer tax reflects its new role.

3. Most of the capital transfer tax administrative provisions were abolished.
4. Outright gifts will be exempt from tax where the gift is made less than 7 years
before the donor’s death.

5. Cumulation period for chargeable transfers was not reduced.

6. The tax will stop to be charged on a cumulative basis.

7. The existing exemptions and reliefs will be abolished.

8. New “gifts were reservation” are introduced.

9. The new legislation makes the rules more complex.

10. Life assurance will have a new role in future.
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Ex.4. Translate the word-combinations into Uzbek paying attention to the
translation of noun which functions attributive. For example:income tax —
HCUCMOHUL ULAXCIAP 0APOMAO CONURU.

net income, company taxation, corporation taxation, stock market, group tax, head
office, development areas, tax control, management contract, tax break, board
member, board meeting, resident company, home country, host country, tax
treatment, tax exemption

Ex.5. Paraphrase the following word-combinations as the example. Example: a
tax payer — one who pays taxes

-a car owner —
- a house owner —

- a shareholder —

- a book-keeper —

- a wage earner —

-a money raiser —

-a money waster —

- a money maker —

- a tax assessor —

- an assistant manager —

Ex.6. Question for discussion.

Do you think a company is a separate taxable body distinct from its owners?
What do you think governments do you think governments do something to
encourage the work of companies?

Ex.7. Find and underline the gerund in following sentences. Translate the
sentences into Uzbek paying attention to the forms and functions of gerund.

1. Smoking and drinking may be discouraged by having high levels of tax imposed
on them.

2. By transferring some resources to the central pool, communal projects for the
common good can be paid for.

3. As tax is deducted before salary or wages are paid, avoiding payment is difficult.

4. Problems in collecting a once-a-year lump sum have persuaded many governments
to use some form of PAYE.

5. Lower-paid workers have some difficulty in finding a lump sum.

6. A flat-rate head tax is the least popular means available for relieving people of
their money.

7. Giving away a valuable painting, say, will not mean that capital gains tax (CGTI is
escaped: its value will be assessed and taxed accordingly.
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8. The impact of CGT can be minimized in any one tax year by balancing out gains
and losses.

9. Inheritance taxes can be avoided altogether by giving assets away.

10. In considering company taxation it is important to remember that a company is a
separate taxable body.

11. There is little to be gained from going into the mechanics of how corporation
taxes are paid.

12. The home-country may respond by limiting the amount of investment.

13. Before repatriating the dividends, foreign investors pay withholding tax.

14. Central or local state authorities are responsible for fixing a sales tax.

15. Besides paying VAT people pay sales taxes.

Ex.8. From what kind of word-formation derived the following words?. Identify
the types of suffixes and translate the words into Uzbek.

1. owner, holder, governor, tax-payer, assessor, registrator, stimulator, separator,
investor, manager.

2. (a) requirement, development, payment, government, assessment, investment,
management;

(b) difference, allowance, residence, reference, transference, assistance, inheritance,
appearance;

(c) exemption, determination, corporation, stimulation, location, extension,
taxation, depression, separation, limitation, repatriation, registration, consideration

Ex.9. Write a brief essay about the topic “Methods of Taxation in My Country”.

* Read and translate texts “Double Taxation Relief Agreements” and “Non-
Residents”: What are the benefits of DTR

TEXT
DOUBLE TAXATION RELIEF AGREEMENTS

In an attempt to ensure that individuals and companies are not taxed twice
simply by accident of the location of the income, governments have set up a series of
what are called DTR agreements of treaties. What happens is that the bill of any
overseas income is set against the bill which is due on the total income in the
resident’s (whether an individual or a corporation) country. Only the balance is paid.

In a case, however where the tax bill in the residence country is lower than that
paid on overseas earnings there is no rebate. There is simply no tax to pay in the
home country. This is the normal type of DTR agreement, though some are more
comprehensive than others. DTR agreements have the additional benefit of helping to
prevent tax evasion.

Under some DTR agreements certain types of income are taxable only in one of
the countries who have signed the agreement. This is the case, for instance, in the
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agreement between Malaysia and Singapore, where income taxed in one country is
completely tax-free in the other. The reason is the historical link between the two
countries. Companies have shareholders in both countries and tax is payable in the
country which the company is resident. Individuals living in one country may work in
the other, and such cases will pay the tax in the country in which they work. In cases
where income is taxable in both countries the overseas tax is normally allowed as a
credit against the domestic tax due.

In cases where no DTR agreement exists between countries, raising the
unpleasant prospect of double taxation, there may be what is called “unilateral relief”.
Under it, overseas paid may be deducted in computing the overseas income taxable in
the resident’s country. This is not always the case, however.

(from “Guide to International Finance” by Alen M.)

Vocabulary list you may need

ensure — kadoraTiiaMoOK, TAPMHHJIAMOK | agreement - keiuinys

balance — Konnuk, canbno domestic - nuku

rebate - vernpma OVereas — neHrus/4erapa oOpTH
unilateral — 6up TomoHIamMa comprehensive — KeHr KaMpOBJIH
prevent — oJITMHHA OJIMOK, taxable — conukka TopTunaauran

Ex.1. Try to find the sentences with the following words and translate them into
Uzbek.

location of the income, the total income, rebate, to prevent tax evasion, to sign
the agreement, shareholders, the domestic tax, a unilateral relief

Ex.2. Identify that which English and Uzbek words match each other.

attempt, location, set up, treaty, bill, overseas, earnings, taxable, to sign, link,
shareholder, prospect, double taxation, to deduct, to compute

Ty3aTMOK, = HM30JIAaMOK,  XHUCOOJIMOK, aKIMOHEp, XOpWXHUH, YypUHUIL,
OeNruiiaMoK, UKKM €KjaMa COJIMKKA TOPTHIN, COJIMKKA TOPTUJIaJAUraH, >KOMJaIiraH,
KEJIMIITYB, UIIIJIa0 TOMIMOK, XHUC00, aloKa, HCTHKOOT

Ex.3.Answer the questions according to the text.

1. What is done not to tax companies and individuals twice?

2. What is the normal provision of DTR agreement?

3. How is DTR agreement connected with tax evasion?

4. What is specific about DTR agreement between Malaysia and Singapore and why?
5. What is the usual practice where income is taxable in both countries?

6. What does “unilateral relief” mean?
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Ex.4. Retell the content of the text “Double Taxation Relief Agreement”.
* Read and translate the text “Non-Resident” into Uzbek.

TEXT
NON-RESIDENT

People can be working and earning in a country but not be resident there. The
definition of the resident varies, but, commonly, living continuously for about half a
year in a country brings resident status. It can happen, however, that a person may be
resident in two countries. For example, the rules of a country may demand that to
cease to be resident, the individual must be out of the country for a full tax year, apart
from brief visits. This is the case for the UK, though there is total relief from UK tax
if the individual spends a full 12 consecutive months outside the UK. In contrast, a
foreigner living in the UK becomes a UK resident for tax purposes in any year of
assessment if he or she spends six months there. The DTR agreement may avoid
double tax in these cases, but it is wise to discuss with the tax authorities of the two
involved what is the , most tax — efficient way to proceed. Non-residents may not be
taxed on any income they may have arising in a country, though whether or not it will
be taxable in their resident country will depend on whether the latter has a global or
territorial system of taxation. On the other hand, non-residents may be taxed at a
single, often high flat rate on anything they earn in the country where they are
temporarily working.

(from “Guide to International Finance” by Alen M.)

* Compare condition of getting residential status in Uzbekistan, Russia and UK.
In what condition taxes are imposed by resident in Uzbekistan or vice-versa,
exempt from taxes. Compare it with the condition of GB in the table below.

Resident Status

Uzbekistan Russia UK
Tax Assessment
Uzbekistan Russia UK
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* Read and translate the text “Basic Principles For Taxation System”. Answer
the question: What taxes and Taxation System: What taxes and taxation systems
were introduced on the grounds of these principles?

TEXT
BASIC PRINCIPLES OF TAXATION SYSTEM

Adam Smith laid down certain cannons of taxation which are still generally as basic
principles for a system of taxation. They are the principles of equity, certainty,
convenience and economy.

Equity

There must be equality of sacrifice. This implies that the burden of taxation
should be distributed according to people’s ability to pay. Smith thought that
proportional taxes would satisfy this criterion, but nowadays it is generally accepted
that progressive taxes are the most equitable type of tax.

The capital gains tax was introduced on grounds of equity. It was felt that a
capital gain obtained by speculation in share or commodity markets should be subject
to taxation in the same was as income earned on the factory floor.

Certainty

The tax payer should know how much tax he has to pay, when it must be paid,
and how it must be paid. He should be able to assess his tax liability from information
provided and should not be subject to tax demands made in an arbitrary fashion. In
theory, the British system of taxation satisfies these requirements — all the necessary
information is available to taxpayers, but the tax laws have become so complex and
extensive that it is sometimes difficult for the average man to be certain of all his
rights and responsibilities.

Convenience

Taxes must be collected in a convenient form and at a convenient time. The Pay
As You Earn (PAYE) system of tax collection is probably the most convenient
method in general use. Under the previous system income tax was paid in arrears —
the tax on the income earned in one period was payable in the following period.

Taxes are paid in money and generally speaking this is the most convenient
form of making tax payments. Some difficulties arise, however, when taxes are levied
on wealth, the majority of which will not be held in the form of money.

Economy
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The costs of collection and administration should be small in relation to the total
revenue. This requirement often conflicts with that of equity. The “fairest” system of
taxation would involve casting the net so widely and so carefully that collection costs
would be disproportionately high.

(from “Introductory Economics” by Stanlake G.E.)

Vocabulary list you may need

lay down — kupuT™MOK (acoCHH) obtain - oMoK

equity - XOJIMCIUK commodity - ToBap

equitable - amomariu demand - tanad

certainty - aHUKJIHK arbitrary - spkun

convenience - KyJaiimk satisfy - KOHUKTHPMOK

equality — TeHrHKIIap quirement - taa0

sacrifice — kypooH extensive - keHr

imply - arrIIaMOK arrears — 60KuMaHAa

criterion - me30H average - yprada

criteria pl. - me3onnap assess — Hapxja/6axo/ia Xucob6aMoK

Ex.1. Answer the questions according to the text.

. Who laid down the basic principles for a taxation system?
. What are the basic principles for a system of taxation?
. What does the principle of equity mean?
. What taxes did Adam Smith think satisfied the criterion?
. Why type of taxes are considered the most equitable nowadays?
. What tax was introduced on the grounds of equity?
. What does the principle of certainty mean?
. Does the British tax system satisfy this demand?
. What does the principle of convenience mean?
10. What is the most convenient method of tax collection which is in general use?
11. How was income tax paid under the previous system?
12. What is the most convenient form of tax payment?
13. When do difficulties arise to pay taxes in money?

©Ooo~NOoO ULk~ WN PR

Ex.2. Find English equivalents of the following Uzbek word-combinations from
the text above.

MY IDKaJJIaMOK, COJTUK MaKOypUsTIapH, LIeX1a UIIIaHTaH, COJIUK TYJOBUYUIapra
KepaK MabJyMOTJIap, OJAUN KaMTapuH OJaM, OJIIUHTY TU3UMIra MyBO(DUK, OJJIUHTH
CaHa OpPKAJIM TYJIaMOK, KUWMHYWIMK F03ara KEJIMOK, COJMK WHFUMIIApU Y4YyH
Xapakatiap, COJIMK TYJall MyHOocabaTh OuiaH
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Ex.3.Make up word-combinations from the words which are in three column

and translate them into Uzbek.

sacrifice market equity

tax demands obtain
proportional payments commodity
satisfy capital gain disproportionately
equitable income earned

tax total principle
make cast information
available form type of tax
convenient burden use

general liability market
difficulties type capital gain
net high revenue

Ex.4. Find synonyms of the following words from the text.

universal principles, to meet the requirements, fair type of tax, to get, on basis,
goods, liable to taxation, to calculate the tax, to offer information, general practice,
difficulties appear, compared with, overall

Ex.5. Analyze forms of passive voice in the following sentences and translate
them into Uzbek.

1. If certain canons of taxation were not universal, they could not serve as basic
principles for a system of taxation.

2. If the government had followed the basic principles for a system of taxation, the
economic effects of taxation would have been greater then.

3. It is necessary that there should be equality of sacrifice.

4. If the burden of taxation were distributed according to people’s ability to pay, the
principle of equity could work.

5. It is required that the capital gains tax should work on grounds of equity.

6. It is necessary that a capital gain obtained by speculation in share or commodity
markets be subject to taxation in the same way as income earned on the factory floor.
7. It is important that the tax payer should know how much tax he has to pay.

8. It is necessary that the tax payer be able to assess his tax liability from information
provided.

9. If the system satisfied these requirements, all the necessary information would be
available to tax payers.

10. If the tax laws had not become so complex, it would not be difficult for the
average man to be certain of all his rights and responsibilities.

11. Taxes should be collected in a convenient form and at a convenient time.
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12. If wealth were not held in the form of shares in a private company, they could be
offered for sale to the general public.

13. The costs of collection and administration should be small in relation to the total
revenue.

14. In some cases this requirement would conflict with that of equity.

15. The “fairest” system of taxation would involve casting the net so widely and so
carefully that collection costs would be high.

16. Taxes would reduce the disposable income of firms and households.

Ex.6. Paraphrase the sentences

1. The amount of money paid should depend on the ability to pay.

2. Progressive taxes reflect the principle of equity to the fall.

3. The tax payer should be aware of everything concerning the taxes he pays.

4. The tax payer should be able to calculate the taxes he/she is to pay.

5. The British system of taxation keeps up with the basic principle for a system of
taxation.

6. Common people may have problems with assessing taxes.

7. The PAYE system is the most wide-spread.

8. People may face problems when paying wealth taxes.

9. The money spent on collecting taxes should be much smaller than the collected
sum.

10. It is sometimes difficult to observe equity and economy at the same time.

Ex.7. Translate the sentences into English.

1. Conukka TOPTUII TaMOWWIJIJIApU aHYa WWIIIap OJIMH HMILIA0 YMKWiITaH Oyica-na,
Xajuraya y3 XyCyCHUSITIapUHHU UYKOTTaHU UYK.

2. ConuKKa TOPTUIIIA OUpiIaMud TaMONII, Oy aoaTIuKIup.

3. AIOJIaTIMK TAMOWUIIN JeTaH/a, COJIUK TYJTOBYMHHUHT TYJIOB KOOMIMATUHU XucoOra
OJIMIII Ha3ap/aa TYTUJIa]Iu.

4. Xo3upru KyHja Oy TaMOWHII YCYBUM COJIMK TYPUHU TYIaIga aXaMUSITIAIUD.

5. AHUKJIMK TaMOMUWJIN JeHnIITaHa dca, COJIMK TYJIOBYHM KauyoH, KaH/Iai, KaH4a COJTHK
TYAAIIMHU OMJIUIIH JIO3UMIIUTH TYITYHUJIAIH.

6. bapua conuk TYJIOBUMIAp V3MAPUHUHT COJIMK MaxOypustiapu OunaH OOFIHK
3apyp axO0pOoTJIapHU OUITUIITN Tajgad dTHIIAIN.

7. ConuK TU3UMUJATH KyJailIMK TaMOWWJIMIA 7ca, COJUKIap KyJjaid IIakijga Ba
KyJail BaKTJa YHAUPWIMIIHA YbTUOOPTA OJUHUIIN KEPaK.

8. ConmuKJIapHu WHUFUIIHUHT SHT KyJlail Ba KEHI TapKajiraH ycyiud Oy, OWJIMK-
MaoIIJIaH yIijiad KOJIUHUIIUIUD.

9. 3amoHaBUW COJMWMKYM XOJUMJIAPAAH SIHTM COJMK KOHYHUYWIMITMHUA TyXTa
Y3namTupuO 6opuHim Tajgad dTUIAH.

Ex.8.Question for discussion.
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1. How must be the basic principles of taxation system?
2. Why is it important to observe them?

Ex.9. Translate the following words and make up your own sentences.

indirect tax, indifferent, increase, decrease, self-employed, zero-rated, uniform,
impossible, regardless, however, nevertheless, needless, home-ownership, wage-
earners, outline, principle, economic effect, capital gains, equity, requirement,

property
Ex.10. Find: a) nouns, b) adverbs in the following list.

activity, especially, property, relatively, treatment, simply, widely, efficiently,
variety, invariably, directly, locality, repayment, steeply, largely, normally,
achievement, removal, closely, inheritance, accordingly, alternatively, difficulty,
briefly, ability, shortly, substantially, approximately, entirely, ordinarily

* Read the text “The Economic Effects of Taxation on the Distribution of Income
and Consumption” and answer the question: When is the effect of taxes
regressive?

TEXT
THE ECONOMIC EFFECTS OF TAXATION ON THE DISTRIBUTION OF
INCOME AND CONSUMPTION

Taxes will reduce the disposable income of firms and households. When the tax
IS progressive, the incomes remaining after tax must be less unequally distributed
than incomes before tax. Only a proportional tax would leave the distribution of
income unchanged. Indirect taxes also affect the distribution of income. The
commodities which are subject to heavy taxation are widely consumed and have
demands which are inelastic with respect to price. Since the lower income groups
tend to spend a greater proportion of their incomes on some of these commodities the
effect of the taxes can be regressive. For example, there is evidence that the tax on
tobacco is regressive, it takes a higher proportion of the income of the poor than the
rich. It appears, the fact, to be getting more regressive because tobacco consumption
has fallen among the higher income groups. On the other hand the tax on alcohol
seems to act progressively. The higher income groups consume relatively more wines
and spirits which are subject to higher rates of tax.

Direct and indirect taxes will affect both the total and the pattern of consumer
spending. Direct taxes reduce disposable income, but the effect on consumption will
depend upon the propensity to consume and the level of saving. If there is very little
saving, direct taxes must reduce consumption. If, however, tax payers are enjoying a
relatively high standard of living which enables them to save, an increase in direct
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taxes may have relatively little effect on consumption. People may resist any cut in
their living standards by reducing saving rather than spending.

Indirect taxes will also reduce the total demand for goods and services,
especially where they are imposed on commodities with inelastic demands.
Consumers will tend to maintain their consumption of these goods and so they will
have less to spend on other goods and services. Again, much depends upon the
propensity and the existing levels of saving.

Vocabulary list you may need

disposal — 6up mapTanuk evidence - mammr

Income - napoman consumption - pcteMour
CONSUME — UCTEbMOJI KHIIMOK propensity to - MOHHILIHK
elasticity - srunyBuan tobacco - Tamaku
existing- MaBxy relatively wucOuii

Ex.1. Answer the questions according to the text.

1. What is the effect of taxation on the disposable income?

2. Which of these taxes affect the distribution of income: progressive taxes,
proportional taxes or indirect taxes?

3. The effect of what taxes can be regressive? Why?

4. Why are indirect taxes on alcohol less regressive than indirect taxes on tobacco?
5. Does the effect on consumption depend on the reduced disposable income?

6. In what cases do indirect taxes reduce consumption? and when not?

7. What do people usually reduce when there is a cut in their living standards?

8. What kind of demand do indirect taxes reduce?

9. The consumption of what goods do consumers usually keep?

10. What does the situation depend on mostly?

Ex.2. Find English equivalents of the following sentences from the text above.

1. lapomMajylapHUHT  TaKCUMJIAHWIIMAA OWJIBOCUTA COJUKIAp V3 TabCUPUHU
KypcaTaau.

2. beBocuTa conukiap 3ca ToBap-MaxcyyioTiaap UCTEbMOJIUTa TAhCUP KUIA IH.

3. bunBocura conmuknapuu tanad, sXTuKIap OuiiaH y3apo OOFIUKIUTH XaKHU/Ia.

Ex.3. State about short content of main factors of the text. Make your own
conclusion in Uzbek.

» Read and translate following texts into Uzbek. Entitle text A and write a short
summary to it
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